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__. Multigle choices : Chosse the most agpropriate. answer fot the following fuestions, (4 points each)
P g1

l, Eneyy 15 when bonds are fomed and 15 when bonds are broken ;
theefore | bond dissociation energies are always
a. veleased / consumed / erothermic b, teleased / consumed / endothermic
C. consumed / relessed [ 2yothermic d.  consumed /released / endothemic.

2, 1§ a mirttute contains 75 % of one Compound. and 25 % of s enantiomer, what is the e.e.
of the mizdure ?

a. |00 b. 75 c, 50 d. 25

3. Predict the two mest IIKeJV mechanisms for the reaction of 2z-iodohexane with sodium ethoxide .
&. Elardsy2 b E2and Sy2 C. E| ad Syl d. E2 and Sy |

4. Using Saytzeffs cule , choose the most stable aillene among the following .

a. 4—Me+h/‘c7ldoke7£ene. b. 3- me#\)dcyc‘ohemne
c. |- me‘!\aﬁc)'cloke%me_ d. ﬂey ae all vf ¢$M1 ﬂub'H)’ dCCO'd?'\a t Saﬁzeff’s \’Ul&

5. Which of ke following Mﬂeﬁh should be used G convert 3-hexyne to (E)-3-herene ¢
a. H,’ Pe b. Na, Nttty C, H; Landlads cd‘a\Ig.t d. H1504_ H0
6. which #f the rfv“ow na Alel halides would b& suctable to use when formi n§ a (:'manml reagert™ ?

¢, (chiNcrhedBe b crl,ﬁaLaLBr C. Beethetheh¢N d. HNehchabhBe

n. The veactton o—f C,H;QLMaB( with CPbCOCI’LCﬂ3 31\/25.

a. an achival product b. a mixtfure of diastefeomers
c. the racemale of o chital proded  d. a single enartiomer

8. When |-heyand i5 treated with conc. Has0y at woderale Tempenture, I3
formed. via o (an) mechanism,
a. di-n-propylether, E | b, di-n-hexjether, E 2
op df—n—he;t)l\e‘tker,s,ql d. di-n-hexylether, sy2

9 How many electons e present ih the nonbona\:na T molecular otbital of the o\llyl cation ?
a, 3 b. 2 c. | da. 0

(0. Which e f the J[vliaw o4 15 aromatic 7 (aAsumn planam’rr of the T ncl-worK)

a. & b, | | C. O @
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At B\ R
. Predict the structures of the major organic. products of the. following veacttons. (4 poirtz each)

3 O/’\/ ) Ha(OAc)z, Ha0

(@) NaBHz
| ‘Brz
Z. < §>—8 NH—@ -
3 (1) CHaI (ercess)
QCHJ @ Ag20

(3 »
11 () LiNHa
4. CH—&-Q‘é—OH >—-——-—-—-~?~(2> tho T

5. ® ChehChBr
PhaP @ n-Buli

(3 CrL CDU’{}

#B A # 1t &

Propose o sequence of steps B carry out He followiv\a Convefsion
WO — %0,

Propose o method fof the. $7n'ﬁva$ i o{l 3—me:+l«7'l—-2 hexanone from CH;&CI-L g—ogt
by an acetvacekic ester 57nﬂ\es\s method .

(10 Po?n“'s)

(1o poirds)
Propose o sheywise mechansm fof each of the following feachions (10 points each)

l. L cHyoH
o — 5 Ul

N/Pl\
2. é ¥ P“ NH, .....E‘ié:.‘i_; @




